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Note:~ You have four choices for each objective type question as A, B, C and D. The choice, which you think, 1s correct; fill that circle in

front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark 1n that
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question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid 15 not allowed
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Side bisector Altitude Median Angle bisector of a triangle and perpendicular to its opposite side is called
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Solutionof (x — 1)* = 4 is:
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Tangent Radius Diameter Arc A chord that passes through the centre of a circle is called:
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~ In-centre Orthocentre Centroid Circum-centre | The point at which the medians of a triangle meet is called:
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